
NCAA lecture 6 : quiz solutions

1) a) large spectral gap : the graph is well connected f close

to a complete graph ,
actually )

be ) small spectral gap : the chain is close to periodic

⇒ an eigenvalue is dose to - I

b 2) small spectral gap : the drain is close to

disconnected ;

long stays in States 1. & 3 ⇒ an eigenvalue close to + e.

c) small spectral gap : the chain is ( very ) close

to periodic ⇒ an eigenvalue close to - I



de ) small spectral gap : the chair is close to disconnected

and dose to periodic ⇒ an eigenvalue is close to - I

and another is dose to +1

d2) the chair is close to periodic in this case ⇒

small spectral gap also

2) Adding self - loops in cases be )
,

c ) & dz ) increases

the

spectral
gap .
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which contradicts the assumption .
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b) Assume FACS
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date value ( all p,
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c) Same story : consider Acs
, di = Eddi!I

Ifs pjdj  = di ( - ⇐Ap ;
 t P ; ) t - di Fedsnetwork either

solute value ( all pi > o )


